‘Written Exercises

Exploratory Exercises
Simplify. Use absolute value symbols when necessary.

1. VB 2.Viz 8. VEh 4. VI8 5, Vo4 6. V32
7. V48 8. V1§ 9. Vm? 10. VyS 11, Vet 12, Vadl

18. V84T 14. Voaf 15. Va'b? 16. Vaiyt 7. V4 Ve 18, VB- V3

©19. V5 - V10 20. V6 - V9 21. V1T -V11 22. V10 - V10 |

23, V3(VE 4+ V2 - 24, VEVE + VE) 25. VI(VE — V7) 26. V10 (V1D — V3)

Simplify. Use absolute value symbols when necessaxy.

27. V2T 28. V715 . 29. V45 30. V58

31. V72 32. VB0 33. V50 34. V98

35. V128 36. V280 37. Vb00 38. V1000

39, V720 40. V784 41. V5184 42, V2916

43, V321 44. V90a? 45, V40B' 46. V48m?*
47. V36ath? 48. V80aib® 49. V12007 50. Vddm'n
5. VB - 52. VEdaTh! 53. V20min? 54. V14T
/5. V3Z0mn® 56 VESRDyT 57. V3lxty B8. Vi2xy

59. V6 - VB 60. V10 - V30 81. 9V5 - VE 62. 4V2 - V2
63. 23 - V5 64. 3V7 - V73 85, 5Vi0 - VA0 66. 6V8 - TVB
687. 4V5E - 3V15 68. T30 - 2V6 . - 69, V3(V3 + V) 70. VI(V1E + VT)

71. VB{VT ~ V3) 72. V2(VE = Vi) 73. VE(VI0 - V2) 74, VIO(VID = V2)
75. VB(VE + VET) 76, VBV + VAZE) 0 7. VIEVIS + 4VT) T8, VB(2VE + 5VE)

79.. Find the area of a rectangle whose length is 80. Find the area of a triangle whose base is
V343 cm and whose width is V7T em. V8 in. and whose altitude is 2V6 in.




